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"9127 215 19 ynawn R Ni7 — This is what he teaches us, like 21 etc.

Overview

Our X3 concludes that 777 J2 "0°R maintains that there is one Naw NoRoA
that if someone transgressed it, he is not 2*17. It is not clear however what is
meant that he is not 2>°17. Does it mean that if he did this 3w2a 70877 he is not
NRVM 32972 2107, or does it mean that if he did this 7°12 79897 he is not
79°P0 297 (or perhaps even both)? The °"1 maintains that >0°X was referring
only to the A1W2 NRV 127771 MWD but 7°1722 even "0°X will agree that he is 2m
nxun. The >"1 will explain how he came to this conclusion from the wording
in our X3, and will also explain how the X313 came to this conclusion, of
how to interpret the ruling of 7717 12 "O°X.

PITXY 1929 7P T 180" — The 3''1 derives from this X3,

TR NAR Y 2957 19K 9K 1P 897 — that oK did not intend to state in his
ruling; that on one of the NOXY7 one is not 2°°7, to include all types of 0>arn
799PoR ROX — only pertaining to the punishment of 579929, that alone is what >o°x
was referring to when he said that on one of the nmaX%» you are not 2>°1. On one of the
MoRY7 if one did it X072 7912 he will not be 79°po 2.

29> Yy 21 nXun 93k — however concerning bringing a nxwr 277 if
someone transgressed this A w2 798%n, then even *0°X will agree that he is
2% to bring a NRYT 1272 on any of the Moxo» that he did aw3, including the 797
that is 72°pon MWL, when he did it 2.

How did the >"1 derive this from our X210

NRUNR 8P 987 — for if we assume that s"0°X ruling refers to a nRwR 127p, that
on a certain *0°X ,79X?1 maintains that you are nXvn 127p1n Mo if you did it awa

12 &N — if the above were true, we will have a problem in the X3

NLOWD ARV 2997 A2 D %5 — when the X2 asks: “Why does the Xn>12
need to say that if he did the amwa XX he is 217 a nRwnr 127p? It is
obvious!” At this point (instead of the X7»3 answering that the Xn>12 wants to reach us
that 772 he is punishable by 772°p01 n72) —

290 3% YRWR KRR K7 RS 79 M7 — the X103 should have answered (the final
answer) that the Xn»™72 comes to teach us like 29, that 7x¥7 noxo» is not the
7OX77 that "0°X was referring to when he said that on one of them you are not 21 a 127p
M W2 nxvn. Since the X3 did not give this answer, that proves that ’0°X was not
discussing » W and 1299, only 71 and 19°p0, because awa there is always a nXvn 2vm,
therefore the &773 could not have given this answer.

One may attempt to refute this proof, by arguing that the reason the X723 did not give this
suggested answer, is not because *0°X is not referring to A ; it could well be that *O°X is
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referring to AW, however the X713 did not give this answer, because the X7n3 felt it had a
better answer, namely; 7% X3°1%°R 79°P01 N2 Wy 7112, To this Md0IN responds that we
cannot say that this is a better answer, on the contrary —

7Y RDMUION ﬁ'?’PD\ n9D Wy o2 uwnT X717 — For the answer which the
X3 actually gives; that the Xn»72 wishes to tell us that if it was done 79123
it is punishable by 7% Pz N>

79 "% NY — this is no answer at all', because this too is obvious, as the X713 is
quick to point out, therefore we cannot say that the X1 had a better answer. We

conclude therefore, since the X n3x did not give the suggested answer, that proves that “0°X
was not referring to A, only to 7.

mooINn is going to forewarn a possible difficulty with his assumption that *0°X was not
referring to M.

T9OPR MRT YT M KD ORTY XIpwm — Originally, when the Xnx first
quotes “0°X (M10IN concedes) that the X713 certainly did not know that "o°X
is referring to 72°p%. How do we know this —

DRV S99RT 3237 %2398 99T — since the X773 contradicts the statement of

"0°X with the statement of jam® '3, who is discussing about a nXwn 1277,
therefore at that point in our discussion the X773 is assuming that "0°X is referring to a
M w. The question being posed here is that we have two opposite assumptions; either a)
that °0°X is discussing 3w, which we must assume to understand the contradiction with "
13m°, or b) MdOIN assumption that >o°X is referring only to 72°p0Y 71, which we need to
assume in order to explain why the &3 did not answer immediately 275 "nap X7, as
noted above.

To resolve this apparent contradiction N1501n continues:
NMR RYR 2997 1KRT 2R 1397 — when we read the text of "0°X stating: “he is
291 only for one”

7902 MPIRY 9372 KY — then it is obvious that *0°X is not referring to 79po,
he could not be saying that you are not 21 more than one 790

9% Javbup SSup n2 wKT — For is it at all possible to kill him with two

deaths! Therefore as long as the text read NNX XX 2’77 11X we are forced to assume that
he is referring to 3, and therefore there is the contradiction with 171 "

wapn %2 9ar — however after the X123 resolves the contradiction with 737 ',
by clarifying that the texts reads:

OO MNP T2 AR HY 2971 KT — that (only) “on one of them he is not
2%, and this is what 93X said;

m9IPEa K9R 9K K K97 790w ¥7° 18 — then® the X3 rightly knew that
"X is discussing only 7790

! When moon says >7 *3wn 89, he means that by itself it is no answer. It is an answer if it comes to tell us
1772. However if we say 2772, we should have said it right away by 2w if it were applicable.

? Even though moon derives his own assumption from the text in the X3 prior to this resolution; we will
need to say that the entire text beginning with "27 7R 7" until "17 nAR" is to be read as if it is bracketed in
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(&30 T5p%) 173 9997 1NINRR 3990 897 — for he does not argue’ on our mwn in
5173 B0 P

NARY AR 55 By 2907 Amomk X141 NPT — which mentions the number? of
the NMOXY7 NIaX to teach us that he is 2917 a NXvR 127 for every w2 7R,

(x,u0 ow) 9173 D92 PAD W27 K7 75w nXY — and according to this, it will be
well understood, that which we find in the beginning of 173 %92 p=»

TART 337 9298 MRP — the X3 comments concerning this statement of '3
137, in which he says

"> 21 NN 22 ave INwy axw — that if he transgressed by doing all the
naw nMoRY7 in one state of ignorance, (that he did not realize that he is desecrating
the naw during the entire time that he did all the mM2X7» v'">, nevertheless he is 2377 a
1297 for each 170871, The X 13 asks:

R»2 naw® 7% ¥797 — in what respect did he realize that it is naw. We know
that to bring a 3\Wwa 1299 for naw 717°n it is either one of two ways; either a) one knows
that it is naw, but does not realize that this particular 72877 is M0OK, in which case, as
many NOX72 as you do 3w3, that is the amount of MI27p you have to bring, or b) one
forgot that today is n2w, in which case you bring only one 127p, regardless of how many
MaRY1 you did. Since 7am1 ' says that X"IR 92 9Y 217 _nX 0%Yn2 0210 [XWY oK, he must be
talking about option ‘a’ above, a case that he knew it was naw, but he did not know even
one 1OX?1 which is 70K, the question is what do we mean that he knew it was naw, since
he does not know even one 179X that is forbidden?

R2OPY 9297 R2OKRY PRI 79 P7°7 wanmY — the X n) there explains that he
knew the Mo°X of going beyond a naw 2an, and we are discussing
according to ¥''9 who maintains that 77077 12 PRI MOK, but it is not one of the v"™
MaRYn, therefore there is the possibility to bring 39 nxvr M127p because he did not know
any of the m3ax», but he knew that today is naw in the sense that it is 0K to wander
outside the on.

SOINTA T° Y77 TmMB xR XYY — the X3 could not have said that he knew
that it is naw, because he knew this one 779857 that 3038 claims that he is not 2»n
if he transgresses it’. Why did not the xn3 give this answer?

NRYA 297 199K X177 — because as MO has been pointing out all along,
"0°X maintains that you are 291 a nRun on all the mox9n, it is only concerning
T°p0Y 11, that 0’ maintains that there is one 798%1 which is exempt from this
punishment.

parenthesis. The X713 7701 knew of the ultimate conclusion, that the text of *o°X reads "1 nnX ¥ 2717 1R"
and therefore could not and did not answer immediately by .2773 2"np X7 20w

? The *"1 himself derived that *0°X is not referring to 22, from the text of the X713, as stated above in
moon. Here npoin is teaching us how the X713 came to this same assumption.

* See the following >"2 %K1 71"7 ‘010

> Even though he would not be 21 39 n27p, only 38, since we are excluding s"o°x, nevertheless this
would not contradict the 73wn, since he is 211 on all the Max%n that it is possible to be 2n for their
transgression.
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oILPR WA 19Y — and °''wA also interprets6 the 17 of "OX that it refers to 20
7N and not NXLA 217,

IR0 PIYY YOIRTY NI (3,0x 47) P w2 P — and later in the X1 in the
beginning of 1177 P75, the X773 quotes the ruling of "o°R in regards to 111
hirkirl-H

NRUR PIYY MINRY 23R 2ws wrnwn X9 — and we do not find anywhere

that we quote the ruling of *0°X concerning nXwR 21°1. This supports the view of
the *"3 that *0°X said his ruling in regards to 12°p0, but not for nxwvm.

N7 92 M9 (8,7p 1) RN PO wON2 P 1RRT X7 — and that which we
say further in the X773 in the beginning of the last P95, according to °»9
N1 92 who maintains that for »nn (driving an animal on naw), one is 772°p0 21 for
7°17, but for AW he is 1727pPn Mo, To which the X3 there asks, that we learnt (in a Xn°12)
that whoever desecrates the naw through an act which one is »w2 1279 2>, then 7°2
one is 172°p0 21, which seems to indicate, that if one is not 3 Ww3a j27p 2°°11, the one is not
712 72°po 271, which contradicts the ruling of &1r 92 *27 concerning . To which the
X i replies:

"»RpP 9577 Nu»v7 — perhaps this is what the aforementioned Xn>92 was
saying

T9OPD MITT DY 29297 DXL AR DY Pavnw 9o — that any 70x%n for which
one is 217 a »Wa nRwvA, then one must be 77122 795P% 2%, but it is also
possible that one is not A2 nxvn 21 and nevertheless is 7°1m2 77°p0 2°°1, which agrees
with the ruling of &1 92 °27, on which -

R 92 9797 R2OORT R''399 IR — the R''291 says that according to =2 »9
N2, who interpreted that X172 in the aforementioned manner, namely that anyone who
1S 2 W2 NRLA 21 must be 771722 Tb’PD 211; then we must say —

STORD K7 RN 12 877 — that Xnv>12 does not conform to the ruling of oK
T9OP% RYY DRV 2977 RN21T KK 0RY7T — for according to X there is a
situation where one is 22 nXun 291 and nevertheless is not 799po 270
7m3. We are referring to this unknown 770877 where *0°X maintains (according to the *"3
[and X"2»7]) that he is 3 W2 nXwvr 21 and not 7°12 79°P0 20 in contradiction to 2 M7
'R interpretation of the Xn»»2.

Summary:
MooIN maintains that the ruling of *o°X, which says that on one of the maxo»

you are not 2>, this is referring to 7°12 1%°p0 21’1, by a AW however *0°R
agrees that you are NXvn 1272 27 1nn for transgressing any of the ndRYA.

mooIn derives this from the fact that the X913 did not say that X2°7vX°X 2w2
9 to tell us that IRX7T NIRYA is not the 7oK1 that *0°X was referring to. The

6 See "3 AN Y 270 WKW 112 WP AR 2,901 5V 00 0K 17 "
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reason why the X723 did not say this is because *0°X is not referring to any
A2 79871, because he maintains that you are 12722 2> on all MaRA.
Moo continues to explain that the X713 came to this conclusion, because it
is unlikely that >o°X argues on the (interpretation of the) miwn, which gives us
the number’ of the amount of MIXY7 that one is 2°°1 on N, to teach us that
you are 217 for every single one.

mooIn also explains that the interpretation as to what *0°X was referring to
depends on the proper X07° of what °0°X actually said. If the X07°3 is 1R
"nnX XX 21, then obviously "0 is referring to nNXwvn 127p, because 72°P0 is
obviously only once. If the X073 is as the X723 concludes; nnX 5y 20 1KY
"n, then *OX is referring only to 777°p0, that there is one 79X%7% that is not
punishable with 71%°p0.

Thinking it over

1. moon and the X 13 have different reasons how and why they assume that
0K is referring to 77°P0 and not nxvr. Why does not msoin rely solely on
the s'mx reason? And why (tongue in cheek) does not the X713 rely on
Moo reason?

2. When the X3 answered "7°% X2 03°R 5011 101 72", what did the X
really mean?

3. Can we refute n1901n proof by saying that the reason the X723 did not say
immediately by aw, that 2775 9"»p R, is because at this time we were 07
in the text of "nAX KPR 277 1KY ,00R?

4. Would "o°X (according to no0IN) have any difficulty with the Xn>>72 that
states: "7179P0 AT Y P20 DRV NI KV PR1AY 1272 NAWS IR 2onan"? Why
does this differ than the interpretation of Xnr 12 17?°

7 See X"wnn as to why we do not derive this from *0°X himself who also gives the number 39. See the
following >"9 7K1 7"7 '0.

¥ See oA 1o,

? See 0"



